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Q1. Read the following passage carefully: (10 Marks)

1. The Nobel Prize is a set of annual international awards bestowed in a number of categories by the
Swedish and Norwegian committees in recognition of academic, cultural and scientific advances. The will of
the Swedish inventor Alfred Nobel established the prizes in 1895. The prizes in Chemistry, Literature.
Peace. Physics, and Physiology or Medicine were first awarded in 1901. The related Nobel Memorial Prize
in Economic Sciences was established by Sweden's Central Bank in 1968. The Nobel Prize itself was made
of a mixture of gold and silver with 24 carat or 4.8 g gold coating. Between 1901 and 2015, the Nobel Prizes
and the Prize in Economic Sciences were awarded 573 times to 900 people and organizations. With some
receiving the Nobel Prize more than once, this makes a total of 8§70 individuals (821 men and 49 women)
and 23 organizations.

2. The prizes are awarded in Stockholm, Sweden, except for the Peace Prize which is awarded in Oslo,
Norway. The Nobel Prize is widely regarded as the most prestigious award available in the fields of
Literature, Medicine, Physics, Chemistry, Peace, and Economics.

3. The Royal Swedish Academy of Sciences awards the Nobel Prize in Physics, the Nobel Prize in
Chemistry, and the Nobel Memorial Prize in Economic Sciences; the Nobel Assembly at Karolinska
Institute awards the Nobel Prize in Physiology or Medicine; the Swedish Academy grants the Nobel Prize in
Literature; and the Nobel Peace Prize is awarded not by a Swedish organisation but by the Norwegian Nobel
Committee.

4. The various prizes are awarded yearly. Each recipient or laureate receives a gold medal, a diploma and a
sum of money which is decided by the Nobel Foundation. As of 2012, each prize was worth 8 million SEK
(c. US$1.2 million/ £0.6 million). The prize is not awarded posthumously; however, if a person is awarded a
prize and dies before receiving it, the prize may still be presented. Though the average number of laureates
per prize increased substantially during the 20th century, a prize may not be shared among more than three
people. Some of the Nobel Prize Winners from India are Rabindranath Tagore, Amartya Sen, CV Raman,
Mother Teresa, Kailash Satyarthi, Sir VS Naipaul, etc.

On the basis of your reading of the given passage, answer the following questions.
(a). By which important declaration was the Nobel Prize established?

(i) By the Swedish government. (i1) By the government of Norway.

(ii1) By the will of a Swedish inventor. (iv) By an international declaration.



(b). The Nobel Prize awarded in Oslo, Norway is
(1) Nobel Prize for Medicine (i1) Nobel Prize for Economics
(iii) Nobel Peace Prize (iv) Nobel Prize for Literature

(c) . A Nobel Prize winner receives

I. a gold medal.

II. a trophy.

III. a diploma.

IV. a sum of money as decided by the Nobel foundation.

(1) Only II (i) I and III (ii1) II and III @iv) I, Il and IV

(d). Which of the following is NOT TRUE according to the given passage?

(i) The Nobel Peace prize is given in Oslo, Norway.

(i1) The Royal Swedish Academy of Sciences awards the Nobel Prize in Physics.
(ii1) Each Nobel prize is worth 8 million SEK.

(iv) None of the above

(e). “The Nobel Prize is awarded twice in a year.” This statement is true or false.
(f) Name some of the Nobel Prize winners from our country?

(g) What does the word 'posthumously’ in the passage?

(h) Among how many people can the Nobel Prize be shared?

(1) In what all fields is the Nobel Prize awarded?

(j) What does the word ‘laureate’ mean in the passage?

Q.2 Write a paragraph describing a leader whom you consider exemplary. M

Q.3 You are Amit/ Avani, the In charge of your school’s literary club. Write a notice informing the students
about the publication of school’s monthly newspaper. Ask students to give their news articles for the
newspaper within a specified period. The news articles could be based on the various activities conducted in
the schools during the previous month. Give all the necessary details. 4M

Q.4 Complete the following paragraph by filling in the blanks with the help of

given options: (1x4=4M)
Authorities (a) on 32 pages in (b) next answer book (c) for
(d.......... undergraduate courses.

(a) (i) was settles (i1) settled (iii) settling (iv) has settled

(b) (i) a (i1) an (iii) the (iv) some

(c) (1) mean (i1) meant (iil) means (iv) meaning

(d)()a (ii) an (iii) the (iv) any



Q.5 The following paragraph has not been edited. There is one error in each line. Identify the error and write its
correction against the correct blank number. Remember to underline the correction. 3M

Error Correction
People of diverse culture lived (@) v
together in India. There are much (o) I

people who exhibits unity in diversity. (¢) ............... ...

Q.6 Read the extracts carefully and answer the questions that follow. 4AM
“I come from the haunts of coot and hern;
I make a sudden sally
And sparkle out among the fern,
To bicker down a valley.”
(A) Coot and Hern are........
(i) name of hills (i1) beautiful plants (iii) water birds (iv) name of places
(B) Identify the literary device used in first line ......
(i) simile (i1) metaphor (iii) alliteration (iv) personification
(C) The word bicker means.

(1) happiness (i1) brimming (iii) to shine (iv) flow down with a lot of noise

(D) The name of the poet is.....

(i) P.B.Shelley (i1) William Wordsworth (ii1) Alfred Lord Tennyson (iv) John Keats
Q.7. Answer any three the following questions in about 30-40 words. (3x2=6M)

(1) Why did the poet take the ‘other’ road? Why did the ‘other’ road have a better claim than the first road?
(i1) What is a ‘refrain’? Write about the use of refrain in the poem “The Brook™.

(iii) Why did the grandmother depend on her granddaughter to know the story?

(iv) ‘Kashi Yatre’ was the catalyst in the transformation of the Grandmother. Support with an example.

Q.8. Answer any one of the following questions in about 80-100 words. 4M

Write a paragraph on the topic ‘Importance of Adult Education and Ways to implement it’ taking reference
from the fiction ‘How I Taught My Grandmother to Read’.

OR
How the two roads act as a metaphor for the real life situations in the poem ‘The Road Not Taken’ Explain.
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ANSWER KEY
Q.li-c
ii- ¢
iii- d
iv-d
v- false
vii- Rabindra Nath Tagore, Amartya Sen, C.V. Raman
viii- after death
ix- a famous person
x- In literature, medicine, Physics, Chemistry, Peace and Economics

Q.2- Paragraph writing
Q.3 Notice Writing

Q.4-a-iv
b- iii
c-ii
d- iii
Q.5 Error Correction
i- lived live
ii- much many
iii- exhibits  exhibit
Q.6 a-iii
b—iv
c-iv
d-iii
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oo T eI T 31T FH 6T FXAT & o a8 TFAGIY AT & TohdT g b fGWId

oI I e ol & off o AR ATFA 3T TS FF @ GATS AL GEAGTAT oo Sl g
quﬁmmmwmaﬂwaﬁaﬁywa@:m%aﬁwwm

G & Sfel o TXA H AT dlell Tedsh & AS¢ el S W M| Sed gV STl o 3ol
STATASAT T Hohd ¢ AT AT 3T A of T Sied fohder TORT I ST oF off off 3k a1

STt fFaeil &1 X 39S AT AUT| 16 & Uil Y goig & s 9N i 3Tl ST Iarer

asY {98 FRUT 38 HcF FT el gd Fel T
Yhicl T TG & Al HS FHET B Thicdeh HYel Fgd &1 Si9-a16 3T hed|

THTaeh 39er ¥ ves & AT Feafaf@d 3w e o d@@d 8-
e ¥ Aved & 33U

i. ST EYETOT e AT Y g/ gRC STel T HGUANT X Hevd § dUT JHArgice &1 f&afa
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STEYT: U §f8eh AT Has
2) @) 3 | AT & 98 3¢ 39 AN STl
SUTEAT: 3¢ =X AT foh 9§ 3o 319 AR STelem
3) ) TE # e M-St & 35 @
SATEAT:NE H A ISl & g5 T

3/5



D F) 3¢ o 7 OF T8 A o © § 98 IRRT §
SATEAT: 3o¢ o9 foh 3 [90F W& & 57T & 8,98 aRfAa ©
5) ) gL ar
SYTEAT: Y, dm

10 yede # eaaqd® et Peafaf@a weal F 3 dfo:

QI & A, T ST 6T el |
fRuw gis & gR o7, @18 |a gorel|

D 1) ger-fawer & @RoT
STEAT: UaT-fa9seT & HRUT
2) ®) #eT # fSeTar i HIaSr Hr
SUTEAT: AT H [ASTETAT T HIGAT T
3) @) @i
SATEAT: J8i
Y %) St R-T F T TWH $2A Tl T §
SATEAT: ST R-HTT T &Y W S HoTel AT &
) Iy
SYTET. 3TTHTH
D) Jifew (3itifw) @t : v Fao vfa # AR

HRA Ueh HIY Gl U &1 61 T IRR T Wl § 3Tl TSR Telldl &1 R
oer & Hr 915 gRA wifcd o, FV &7 & 3eaifd & ToIv & fhar v AfFg=T @Il oRd

F FrAoT A F e off T gRURSE Wt Y ST §, 5 sifad @dysiteiRe wifder

T ST &1 Sifdeh Wl & omeT gl 81 SHAT Joda] TUT IcTe] ¥ § o1 HIh
gred g &1 fRETe & Fareey gUr gieRer & A1y & fRarT fr HfF e Qe g
Sifasw Tt T & RaEt Fr 30e arer o gred giar g1 3 & §HT F IAIAs
3T AT HIeaARIRl N HIAd IUF g bt ¢ W F ha= g7 T Ot w

& T e 31RF KT Id & A &
dfeheT TEIAS @le & TAH W oI 93 9, 923 & et & Afda Stfaw @re @

4/5



AT @ A fRAT S7ar g1 a9 G T IRAT FH Ferad @it g1 SAfdd Wt garT 3o
@l yerd ey GifSeen qur Wiweh dedl ¥ XY B ¢ Sifdeh Wl oy AT Hishar &
FIh $HH TARTH AT, H doll HTG &1 @aT o181 il &1 Sifas @ar aiRfeufasr
% 3Ige B § SHAU SHE ATROT FT A gl A& Tgdci| &P 3cureel
3if8epar 3R SRt fr Folr T FaEr Fr ey giar g1 facer & AT @ & FROT sHSAT
Teh ool @dTd @a g1 Il &1 hg TR T 3 & 2015 & AL 3w dog o
STAYHAC BR A g Jofel ATl &1 qafer &=t # Y& fhar 97| v fSer-uesh Sedree
& oA O TS TR W Sifdsh Well & dorar S &l BT HT TS| 2015 H Y& Hr 75

ORI Eljﬁ T Astar IseT Idd Eljﬁ TR (National Mission for Sustainable Agriculture)

& Hecdld SR Ueh 30 fAR ‘HeT FERLY Jatel & Ush Heah ol I ddle IRITATaar
aﬁé@ﬁg@u@mﬂﬁ%mﬁ%ﬁgﬁﬁﬁ:ﬂﬁmaﬁﬂﬁwmmﬁ

FHY T S0 @1 § adl 38 Sifdsh Wl &l 39eren ey g1 3myfash qag & @

ﬁ%ﬁmﬁmﬁﬁmﬁﬁﬁmﬁlﬁ?ﬁmqaﬁq%%aﬁaﬁaﬂ'ﬁg¢wd qgum

FT FH FAT §1 TAELT TAT TATAROT h YHIAT T dlell Tdl & SIS TARELIdTH

JAT TITAROT &7k SAfdsh @A Sl 9T ATAT HT a2 THhdr o =AY

5/5



P E@Hq@f ®I F-T /Total No. of printed pages: 04

URHTY] ST RAE0T T
Atomic Energy Education Society
Tt TII&IT / Periodic Test 1 (2025-26)
faerera/school: Atomic Energy Central School No. 2
$%/Centre: Rawatbhata

HET /Class: 09 fowg /Subject: Mathematics 3{®/Marks: 40

f&ar AT ursa®H/Portion covered: chapter 1 and 2

faemedf 1 “TH/Name of the student:
3 hHid /Roll No.__  PE&I/3IUNT Class /Sec.__ f&idh /Date: .

Section A

Which of the following is an irrational number [1]
a) V23

b) V225
C) 7.478
d) 0.3799

The value of(%)_TS X {(2;)_73 + (g)_3} is [1]
a) 4
b) 3
1
d) 2

The number obtained on rationalising the denominator ofﬁ is [1]

a) \/75+2




\7-2
b) -

\V7+2
3

V7+2
45

c)

d)

Every rational number is
a) a whole number

b) a real number

¢) a natural number

d) an integer

[1]

The simplest form of1.6 is
5

a) ;
4

b) 3

833

c)—

500

d)g

[1]

Which of the following is a polynomial in one variable?

a)V2x%2 —\/3x+6
b)x10+y>+8

2
c)x+=+3
X

2
d) 3Vx + =+ 5

[1]

Ifx + 2 is a factor of x* + mx +14, then m =
a) 14

b) 9

)7

d) 2

[1]

The zero of the polynomial p(x) =5x -2 is

-5
a) ?

[1]




5
b) >

2
C) E
-2
d) -
9 | For what value of k is the polynomial p(x) = 2x3 - kx 2 + 3x +10 exactly [1]
divisible by (x + 2)?
1
a) - 5
1
b) 3
c)3
d)-3
10 | The zeros of the quadratic polynomial x? + 88x + 125 are [1]
a) both positive
b) one positive and one negative
c) both equal
d) both negative
11 Simplify:(x/g — \/5)2 [2]
12 | Find five rational numbers between% andg [2]
13 | Expandusing suitable identity:(2x - y +z)? [2]
14 | Factorize:a®- 3a?b+3ab?- b3+8 [2]
15 | Factorise: x? + 5x - 24. [2]
16 | Locatev/3 on the number line. [3]
17 | Express0.001 inthe form s ,where p and q are integersand g # 0 [3]
18 | Find the value of k, if x- 1 is a factor of p(x) in case:p(x) = 2x2 + kx + 2 [3]
19 | Factorise: x3 - 3x2- 9x- 5 [3]
20 | Read the following text carefully and answer the questions that follow: [4]

Real Numbers

N = {1, 2, 3, 4, ...\} = Set of all natural numbers
w={0,1,2,3, 4 \} = Set of all whole numbers
I={2,-1,0,1,2 .\} = Set of all integers
Q={p/q:p€1, q € I+ \} = Set of all rational numbers

A number which is not rational is irrational number.
The set of all rationals and irrational form set of all real
numbers (i.e., R)

Real Numbers are the numbers which include both rational and irrational
numbers. Rational numbers are the numbers which can be written in the form




of p/qwhere pand qare integers and q# 0. Irrational numbers are those
numbers which cannot be expressed as a ratio of two integers.

1. What is the product of two irrational numbers? (1)

2. How many rational number/numberslies between two rational
numbers? (1)

3.  What s the sum of a rational and irrational number? (2)
OR

Is the number 3.14014001400014... an irrational number? (2)

21

Read the following text carefully and answer the questions that follow:

In a particular class of x students, % th times the square of the total number of

s . 7 .
students planned to visit historical monuments. 5 th times the number of

students planned to visit old age homes while 10 students decided to teach
poor children.

1. What is the total number of students in a polynomial in terms of x? (1)
2. Whatis the degree of the polynomial p(x) = x? + % x+ 107 (1)

3.  How many students planned to visit the historical monuments if x =
967 (2)

OR

How many students are planning to visit old age homes if x = 967 (2)

[4]
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Answer Key
1. A 6. A
2.C 7.B
3.C 8.C
4.B 9.D
5.A 10.D

11. (V3 = V2)2= (V3)2 + (v/2)2 = 2(v/3)(/2)
=3+2-2/3x2=5-2/6

12,2 222222
90 90 90 90 90 90

13. 2x-y +2)?
- 2x+ () + 2P

= (2% + (y) + (22 + 220 () + 2(-y)(2) + 22)(2x)
(Using Identity (a + b + c)2= a2+ b2+ ¢+ 2ab + 2be + 2ca)
=4X2+y2+22-4xy-2yz+4zx

14. The given expression may be rewritten

as, (a— b)3 +23

[. a3 — b3 — 3a%b + 3ab? = (a — b)’]

- [a® + b3 = (a+ b)(a? — ab + b?)]




~(a- b+ 2la- b2 - 2(@-b) + 4]
=(a-b+2)@?+b*—2ab-2(a—b)+4)
=(a—b+2)a®+b2—2ab—2a+2b+4)
- a3 —3a%b+3ab? — b3 + 8

=(a-b+2)@®+b>—2ab-2a+2b+4)

15. The given expression is X2+ 5x - 24
We try to split 5 into two parts whose sum is 5 and product -24.

Clearly, 8 + (-3) =5 and 8 X (-3) =-24
X2+ 5x-24=x%+8x-3x-24
=x(x+8)-3(x+38)
=(x+8)(x-3).

16. Let point A represents 1 as shown in Figure. Clearly, OA = 1 unit.

Now, draw a right triangle OAB in which AB = OA = 1 unit.
By Using Pythagoras theorem, we have

OBz = OA? + AB?

=12 412

=2

> 0B= 2

- ﬂ & .
01 A PQZ2
Taking O as centre and OB as a radius draw an arc intersecting the number line at point P.
Then p corresponds to +/2 on the number line. Now draw DB of unit length perpendicular to OB.

By using Pythagoras theorem, we have

OD? = OB? + DB?

0OD?=(+/2)2 + 12
=2+1=3
oD=+/3
Taking O as centre and OD as a radius draw an arc which intersects the number line at the point Q.
Clearly, Q corresponds to V3.
17.Letx=0.0" 0" 1" =0001001001 . ...
Multiplying both sides by 1000 (since three digits are repeating), we get
1000x = 1.001001 . . .
= 1000x = 1+ 0.001001001 . . . .
= 1000x=1+x
= 1000x —x =1
= 999x =1
= X = g,
Herep=1
q=999(+ 0)

18. p(X) = 2x2 + kX + /2

We know that according to the factor theorem

p(a) =0, ifx — aisafactor of p (X)

We conclude that if (X — 1) is a factor of p(x) = 2x2 + k X + /2 then p(1)
=0p(M)=2(1)2+k(1)++/2=0, or

2+k++/2=0



k=-(2++2).
Therefore, we can conclude that the value of kis — (2 + +/2)

19.Let p(x) = x3 - 3x%-9x - 5
p(-1) = (-1)* - 3¢-1)* 9¢-1) - 5
=-1-3+9-5=0
.. By Factor Theorem, x - (-1), i.e., (x + 1) is a factor of p(x).
Now, x3-3x%-9x-5
=x3(x+ 1) -4x(x + 1) - 5(x + 1)
=x+1)x2-4x-5) =(x+ )(x2-5x +x-5)
=x+ D{x(x-5+ 1(x-5)}
=x+DE-5x+1
20.

. May be rational or irrational

—-

ii. There are infinite irrational numbers
. Irrational

OR

Yes
21.

=

ii

. Let the total number of students = x
.. students planning to visit historical monuments = LlZ X2

—-

and the old age homes = 7 x
12

To teach poor students = 10

.. total number of students as a polynomial. p(x) = 124 Zx+10

12 12
ii.  Degree of a polynomial is the value of highest power of the variable. here, the highest power of
variable x is 2.
hence ,degree of polynomial p(x) = 2. )
iii. Number of students who planned to visit historical monuments = ¥ _= 96x96 = 96 X 8 = 768
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Section A

1 | Castle or stately residence belonging to a king or a nobleman is called as? [1]
a) Emancipation
b) Manor

c) Chateau

d) Souvenir

2 | 2nd estate comprised of which group? [1]
a) Big businessmen
b) Lawyers

c) Clergy

d) Nobility

3 | Snake biting its tail to form a ring is a symbol of? 1]

a) Authority




b) Knowledge

c) Eternity

d) Freedom

Assertion (A): The eighteenth century witnessed the emergence of a new [1]
social group called the middle class.

Reason (R): Philosophers like John Locke and Jean and]Jacques Rousseau
envisaged ideas of a society based on freedom and equal laws.

a) Both A and R are true and R is the correct explanation of A.

b) Both A and R are true but R is not the correct explanation of A.

c) A is true but R is false.

d) A is false but R is true.

What is the position of India in the world in terms of area? 1]
a) Seventh

b) Fifth

c) Sixth

d) Eight

Which one of the following is the Southernmost point of Indian mainland? [1]
a) Kavarati

b) Indira Point

c) Kanyakumari

d) Lakshadweep

In which of the following year Indira - Point was submerged underwater? [1]
a) 2007

b) 2005

c) 2002

d) 2004

Operation Floodis related to 1]

a) Control flood
b) Grain production
c¢) Produce fish

d) Milk production




If farmers are unable to obtain capital from their own savings and have to
borrow, it is called

a) Modern Farming
b) Subsistence Farming
c) Lack of surplus

d) Fixed capital

[1]

10

Assertion (A): Persian wheels were used to draw water from wells for
irrigation in the village of Palampur.

Reason (R): The use of electric run tube wells could irrigate much larger
fields more effectively.

a) Both A and R are true and R is the correct explanation of A.
b) Both A and R are true but R is not the correct explanation of A.
c) A is true but R is false.

d) A is false but R is true.

[1]

11

Give reasons as to why was the NationalAssembly formed by the people of the
thirdestate.

[2]

12

"The eighteenth century France witnessed the emergence of the middle class’.
Who were they and what were their ideas?

[2]

13

Answer the following questions
i) Name the group of islands lying in the Arabian sea andsouth - east of India?

ii) Name the countries which are larger than India.Also mention theisland
countries whichare our southern neighbors.

[2]

14

Which is most important latitude of the country? Give reason.

[2]

15

What are the important sources of irrigation? And why?

[2]

16

Elucidate the contribution of Mirabeau in the formation of the National
Assembly?

[3]

17

How could abolition of slavery become possible in France? Explain.

[3]

18

Name the Indian states which are situated on the eastern coast of India.

[3]

19

Explain the method by which intensive use of the same piece of the land is
possible?

[3]

20

Describe the main features of the constitution of 1791. Mention any five
points.

[4]

21

What are the implications of large land boundaries and vast coastline of India?

[4]
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1. C 6. C
D 7. D
C 8. D
B 9. C
A 10. | B

11) A —Fusion (Heating — Melting)

12)

B — Vapourisation

C — Cooling — Condensation (Liquefaction)
D — Cooling — Freezing (Solidification)

E — Sublimation

F — Solidification or sublimation.

Colloids are heterogeneous mixtures in which the particle size is so small that the particles cannot be seen
by naked eyes. The suspended particles form the dispersed phase of the colloid. The solvent in which

the colloidal particles are suspended forms the continuous phase or the dispersing medium of the colloid.

E.g. Milk.

The properties of a colloid are as follows:-

(1) A colloid is heterogeneous in nature but appears homogeneous.

(2) The size of colloidal particles is too small to be seen individually by naked eyes. The size of

the particles is between 107 cm to 10 cm. They can easily pass through a filter paper.

(3) The particles of a colloidal solution scatter a beam of light passing through it and make its path visible.

(4) The particles of a colloidal solution do not settle down under the effect of gravity when the solution

is left undisturbed for some time. They are quite stable.



13) Lysosomes contain enzymes that are used for destroying worn out parts of the cell. Lysosomes also

14)

15)

16)

17)

destroy waste materials. Due to this, lysosomes are also known as ‘scavengers of the cells’.

Let, The distance from point 'A' to point 'B'= AB =x,

Time taken to reach from A to B, when motorcyclist drives with speed 30 km h' =t =x30

Similarly, Time taken to reach from B to A, when motorcyclist drives with speed 20 km h' = t, = x20

Now, Total time =t + t. =5x60h

Average speed for entire journey = Total distance Total time = 2x5x60= 24 km h-!.

Speed = Slope of distance-time graph.

The smaller the slope, the smaller is the speed. From the figure, slope is minimum for car D. So,

D is the slowest car.

Gases are compressible because the inter-molecular space is very large and kinetic energy is higher in

gases, whereas liquids are not compressible because in liquids, the inter-molecular space is less and

kinetic energy is comparatively lesser.

Prokaryotic cell

Eukaryotic cell

Size : generally small ( 1-10 um) where 1 pm =
10m

Size: generally
large ( 5-100 um)

Nuclear region: It is not well defined and known
as the nucleoid.

Nuclear region:
well defined
and
surrounded by a
nuclear
membrane

Chromosome: single

More than one
chromosome

Membrane-bound cell organelles absent

Membrane-
bound cell organelles are present.

18) Speed = Slope of distance - time graph. The smaller the slope, the smaller is the speed.

19)

20)

21)

a. u=0,a=0.1 ms2 t=2min = 120 seconds.

v=u+at=0+0.1 X 120=12 ms’
so speed acquired = v = 12ms-!
b. S=0x120+12 % 0.1 x 120> =720 m.

i.  Evaporation produces cooling as the particles at the surface of the liquid gain energy from

the surroundings and changes into vapour thereby producing a cooling effect.

ii.  The air around us cannot hold more than a definite amount of water vapour at a given

temperature which is known as humidity. So, if the air is already rich in water vapour, it will

not take up more water therefore, the rate of evaporation of water will decrease.

iil. A sponge has minute holes in which air is trapped. Also, the material is not rigid.

When we press it, the air is expelled out and we are able to compress it.

a. Total distance covered by Joseph in 2 min and 30 seconds = AB
Displacement of Joseph in 2 min and 30 seconds = AB =300 m

2/4



Total time taken = 2 min 30 s
=2%x60s+30s=150s

Average speed = Total distance covered Total time taken
= 300m150s

=2 ms"

Average velocity = Displacement Total time taken
= 300m150s

=2 ms"

Thus, average speed = average velocity = 2 ms-!
Total distance covered by Joseph = AB + BC
=300 m + 100 m =400 m

Displacement of Joseph = AC,

the shortest distances between initial and final position = 200 m

Total time taken = 2 minutes 30 seconds + 1 min
=3 min30s=3x 60 min+30s

=210s

Average speed = Total distance covered Total time taken
= 400m210s

= 1.90ms"!

Average velocity = Displacement Total time taken

= 200m210s

=0.952 ms*

3/4
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Section A

1 | Castle or stately residence belonging to a king or a nobleman is called as? [1]
a) Emancipation
b) Manor

c) Chateau

d) Souvenir

2 | 2nd estate comprised of which group? [1]
a) Big businessmen
b) Lawyers

c) Clergy

d) Nobility

3 | Snake biting its tail to form a ring is a symbol of? 1]
a) Authority
b) Knowledge

c) Eternity




d) Freedom

Assertion (A): The eighteenth century witnessed the emergence of a new [1]
social group called the middle class.

Reason (R): Philosophers like John Locke and Jean and]Jacques Rousseau
envisaged ideas of a society based on freedom and equal laws.

a) Both A and R are true and R is the correct explanation of A.

b) Both A and R are true but R is not the correct explanation of A.

c) A is true but R is false.

d) A is false but R is true.

What is the position of India in the world in terms of area? 1]
a) Seventh

b) Fifth

c) Sixth

d) Eight

Which one of the following is the Southernmost point of Indian mainland? [1]
a) Kavarati

b) Indira Point

c) Kanyakumari

d) Lakshadweep

In which of the following year Indira - Point was submerged underwater? 1]
a) 2007

b) 2005

c) 2002

d) 2004

Operation Floodis related to 1]

a) Control flood
b) Grain production
c) Produce fish

d) Milk production




If farmers are unable to obtain capital from their own savings and have to
borrow, it is called

a) Modern Farming
b) Subsistence Farming
c) Lack of surplus

d) Fixed capital

[1]

10

Assertion (A): Persian wheels were used to draw water from wells for
irrigation in the village of Palampur.

Reason (R): The use of electric run tube wells could irrigate much larger
fields more effectively.

a) Both A and R are true and R is the correct explanation of A.
b) Both A and R are true but R is not the correct explanation of A.
c) A is true but R is false.

d) A is false but R is true.

[1]

11

Give reasons as to why was the NationalAssembly formed by the people of the
thirdestate.

[2]

12

'The eighteenth century France witnessed the emergence of the middle class’.
Who were they and what were their ideas?

[2]

13

Answer the following questions
i) Name the group of islands lying in the Arabian sea andsouth - east of India?

ii) Name the countries which are larger than India.Also mention theisland
countries whichare our southern neighbors.

[2]

14

Which is most important latitude of the country? Give reason.

[2]

15

What are the important sources of irrigation? And why?

[2]

16

Elucidate the contribution of Mirabeau in the formation of the National
Assembly?

[3]

17

How could abolition of slavery become possible in France? Explain.

[3]

18

Name the Indian states which are situated on the eastern coast of India.

[3]

19

Explain the method by which intensive use of the same piece of the land is
possible?

[3]

20

Describe the main features of the constitution of 1791. Mention any five
points.

[4]

21

What are the implications of large land boundaries and vast coastline of India?

[4]
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Answer Key
PART- 1
1. |[c 6
D D
C D
B 9. |C
A 10. B
PART-2

11) Louis XVI called together an assembly of the Estates-General on 5th May 1789 to pass proposals for
new taxes. The first and second estates sent 300 representatives each, while the third estate sent 600
members. Louis XVI wanted to continue with the old voting system in which each estate had one vote.
But members of the third estate wanted a new voting system, where each member has one vote But the
king rejected their proposal and on 20th June 1789 third rejected their proposal and on 20th June 1789

third estate declared themselves as National Assembly.

12) A. The eighteenth century witnessed the emergence of social groups, termed as the middle class.
B. They earned their wealth through an expanding overseas trade and manufacture of goods such as

woolen silk textiles that were exported or bought by the richer members of society.
C. In addition to merchants and manufacturers the third estate included professionals such as

lawyers or administrative officials. People of Middle class were educated and believed that no

1/3



privilege should be given by birth, rather position of a person in society should be merit based.

13) (i) 1.Lakshadweep, 2.Andaman and Nicobar group of islands.
(i1) 1.Russia, Canada, China, USA, Brazil and Australia. 2.Maldives, Sri Lanka.

14) A. The tropic of cancer is the most important latitude of the country.
B. It is situated at 23 72 N.
C. The tropic of cancer divides the country into two equal parts.
D. It also divides the country into two climatic zones. Torrid and Temperate Zones.

15) Source of irrigation are rain, wells, tanks, tube-wells, canals, etc. Irrigation facilities are important in
increasing production because due to well-developed system of irrigation the farmers were able to enjoy
the benefits of multiple cropping. Further modern farming methods are possible only through dependable

irrigation and can be used for increasing productivity of land.

16) Mirabeau was born in a noble family but was convinced to do away with feudal privileges. On 20 June, the
third estate assembled in the hall of an indoor tennis court in the grounds of Versailles. Mirabeau brought
out a journal and delivered powerful speeches to the crowds assembled at Versailles.

17) A. Throughout the eighteenth century there was little criticism of slavery in France.
B. There were long debates in the National Assembly about whether the right of man should be

extended to all French subjects including those in the colonies. But now law was made fearing

C. opposition from business community.
D. It was finally the conventions which in 1794 legislative to free all slaves in the French overseas

possessions. But ten years later, Napoleon again started slavery. Slavery was finally abolished

in French colonies in 1848.
18) A.West Bengal
B.Odisha
C.Telangana
D.Andhra Pradesh
E.Tamil Nadu

19) A. Multiple cropping is the method by which intensive use of the same piece of the land is possible.
B. To grow more than one crop on a piece of land during the year is known as multiple cropping.
C. It is the most common way of increasing production ona given piece of land.
D. By doing multiple cropping the yield per hectare increases and the farmers earn huge profit.

20) A. Constitutional Monarchy: The new constitution made France a constitutional Monarchy.
B. National Assembly: It had 745 members and was indirectly elected and could legislate.
C. Right to Vote: Only men above the age of 25 who paid taxes has equal to 3 day of a labourer’s

wage were active citizens and can vote.

D. Powers of National Assembly: This body had the organs- legislature, Executive and Judiciary.
E. The Declaration of Rights and Man and Citizens: The Constitution began with this declaration

and included rights like rights to life, freedom of speech and freedom of opinion.

21) A. The large land boundaries of India have helped to develop links with her neighboring countries.
B. It contributed in the exchange of ideas and commodities since ancient times. The spices, muslin and

other merchandise were taken from India to different countries. On the other hand, the influence of

Greek sculpture, and the architectural styles of dome and minarets from West Asia can be seen in
different parts of our country.

2/3



C. The ideas of the Upanishads, the Ramayana, and the Geeta etc have become known to the world.
D. The Indian Numerals as well as decimal system long back cross the border, Arabs took these ideas

to the west.
E. The long coast line on the Arabian Sea and Bay of Bengal has helped India to develop close maritime

contact with West Asia, Africa and Europe from the western coast and with East Asia and the south East

Asia from the eastern coast.

3/3
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All questions are compulsory

SECTION A: Objective Type Questions (1 mark each) [10 x 1 =10 Marks]

1. What does ICT stand for?

a) Intelligent Communication Technology

b) Information and Computer Tools

¢) Information and Communication Technology

d) Internet and Coding Technology

2. Which of the following is not a part of ICT tools?

a) Projector b) Chalk

¢) Computer d) Smartboard
3. ICT tools help in:

a) Sleeping b) Communication
c) Eating d) Traveling

4. Email is an example of:

a) Word processing b) Spreadsheet
¢) Communication tool d) Antivirus

5. Google Docs is a type of:

Page 10of 2



a) Hardware b) Word Processor
¢) Operating System d) Browser

6. Which of the following is a cloud-based ICT tool?

a) MS Paint b) Notepad

¢) Google Drive d) WordPad

7. ICT is used in which of the following fields?

a) Education b) Healthcare

¢) Business d) All of the above
8. Which one is not a communication application?

a) WhatsApp b) Zoom

¢) MS Word d) Google Meet

9. A key benefit of using ICT in education is:

a) Distraction b) Delay in learning
¢) Easy and quick access to information d) Boredom

10. Online learning platforms like DIKSHA and BYJU’S are part of:

a) Traditional learning b) Offline learning
¢) ICT-based learning d) Verbal learning
SECTION B: Short Answer Questions (2 marks each) [3 X 2 =6 Marks]

11. Write two advantages of using ICT in education.

12. Name any two communication tools used in ICT.

13. What is the role of ICT in healthcare?

SECTION C: Long Answer Questions (3 marks each) [3 x 3 =9 Marks]
14. Explain three uses of ICT in daily life.

15. Mention the basic operations of computer system.

16. State the difference between the hardware and the software.

Page 2 of 2
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Answer Key

SECTION A: Objective Type Questions (1 mark each) [10x1=10
Marks]

1. What does ICT stand for?

a) Intelligent Communication Technology

b) Information and Computer Tools

¢) Information and Communication Technology

d) Internet and Coding Technology

Answer: c¢) Information and Communication Technology

2. Which of the following is not a part of ICT tools?

a) Projector b) Chalk

¢) Computer d) Smartboard
Answer: b) Chalk

3. ICT tools help in:

a) Sleeping b) Communication
c) Eating d) Traveling
Answer: b) Communication

4. Email is an example of:
Page1of4



a) Word processing b) Spreadsheet

¢) Communication tool d) Antivirus
Answer: ¢) Communication tool

5. Google Docs is a type of:

a) Hardware b) Word Processor
¢) Operating System d) Browser
Answer: b) Word Processor

6. Which of the following is a cloud-based ICT tool?

a) MS Paint b) Notepad

¢) Google Drive d) WordPad
Answer: ¢) Google Drive

7. ICT is used in which of the following fields?

a) Education b) Healthcare

¢) Business d) All of the above
Answer: d) All of the above

8. Which one is not a communication application?

a) WhatsApp b) Zoom

¢) MS Word d) Google Meet
Answer: ¢) MS Word

9. A key benefit of using ICT in education is:

a) Distraction b) Delay in learning
¢) Easy and quick access to information d) Boredom
Answer: c¢) Easy and quick access to information

10. Online learning platforms like DIKSHA and BYJU’S are part of:
a) Traditional learning b) Offline learning
¢) ICT-based learning d) Verbal learning
Answer: c¢) ICT-based learning

SECTION B: Short Answer Questions (2 marks each) [3 x 2 =6 Marks]
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11. Write two advantages of using ICT in education.

Answer:

. Access to digital content anytime, anywhere

. Interactive and engaging learning experiences through videos and games
12.  Name any two communication tools used in ICT.

Answer:

. Email

. Video conferencing (e.g., Zoom, Google Meet)

13. What is the role of ICT in healthcare?
Answer:

ICT helps in maintaining digital medical records, online appointments, telemedicine, and faster
communication between doctors and patients.

SECTION C: Long Answer Questions (3 marks each) [3 X 3 =9 Marks]
14. Explain three uses of ICT in daily life.

Answer:

. Education: Online learning, virtual classes, digital books

. Banking: Online transactions, mobile banking apps

. Entertainment: Online games, streaming movies and music

Q.15 1) Mention the basic operations of computer system. 3

Ans.

1. INPUT UNIT : Used for inputting the data and information into the computer
system.

2. OUTPUT UNIT : Used for outputting the data and information from the computer
system.

3. PROCESSING UNIT : Used for processing the data.
4. STORAGE UNIT : Used to store the data.
Q.16 State the difference between the hardware and the software.

Ans. The hardware comprise all the physical and tangible parts of a computer system,
which means parts that we can see, touch and feel, for example, keyboard monitor,
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mouse, etc. Whereas the software comprise all the instructions and programs that
make the computer hardware function. Software is the intangible part of the
computer system i.e., it is the collection of data and programs that we can see and
work on, but cannot touch and feel.
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